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0l O = &I EHAI 2 2 & I 1,744 1,744 0
J| 872
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307 21201 A 1,744 1,744 0
J| 872
< 262
Al 610
01 927 24| 1,744 1,744 0
O ool &gk Al 2 174,400& » 103 1,744
J| 872
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Al 610
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201 LB-2dH| 2,490 2,490 0
01 At 22l 2,490 2,490 0
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O HAHFED 2EIIEX 240,000 * 6IH 1,440
O &4 8z Fl 250,000& * 32 750
O HeES o E 30& * 10,0000H 300
307 21201 A 249,800 289,800 240,000
01 =L =4l 249,800 289,800 A 40,000
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7,000& * 35,0009 245,000
O ARZ (XY 2 55)
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O HYEE SSHE ARy
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Al 7,000
206 TH 2 HI 10,000 ,000
< 3,000
Al 7,000
01 M= bl 10,000 ,000
O go94s o5 2 50,000& = 200 10,000
= 3,000
Al 7,000
SZEE0UE NI A 8,334 ,334
< 2,500
Al 5,834
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< 1,600
Al 3,734
202 04l 3,000 3,000 0
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Al 2,100
01 = LH YI 3,000 3,000 0
OMNESEEY Bue(sdds8Z 5)
20,0003 = 2% = 753 3,000
< 900
Al 2,100
StMIZIO| L Z A2 X & 39,266 37,329 1,937
= 19,633
= 19,633
307 21201 A 39,266 37,329 1,937
= 19,633
< 19,633
02 ItFAAHEX 39,266 37,329 1,937
[ StHZ0I2ZAE 2
39,266,000 * 10H A 39,266
= 19,633
< 19,633
SR ALALS 1,060 1,120 A 60
J| 1,060
307 21201 A 1,060 1,120 A 60
J| 1,060
01 92724l 1,060 1,120 A 60
O EELNUETAAY 1,060,000 * 14 1,060
J| 1,060
B U E =AU A 4,884 4,598 286
J| 2,442
< 733
Al 1,709
307 21201 A 4,884 4,598 286
J| 2,442
< 733
Al 1,709
01 2224l 4,884 4,598 286
O B2t =22t Ol 2 A (38Y)
4,884,000& 14 4,884
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J| 5,000
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J| 5,000
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Al 3,500
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O gegyzsal Qo ¢ 4HHTa(S
ok ok Xt ,000,000& = 29¥ 10,000
J| 5,000
& 1,500
Al 3,500
2SS TNE=ZNZE AL XS 10,580 7,846 2,734
J| 5,290
& 1,587
Al 3,703
307 2izto| A 10,580 7,846 2,734
J| 5,290
& 1,587
Al 3,703
01 s =t 10,580 7,846 2,734
O AAH X (HSZHA Q)
10,580,000 = {14l 10,580
J| 5,290
& 1,587
Al 3,703
SHAIT O AF2 I Off KH2H 2 X & 2 X & ALY 176,400 216,000 A 39,600
= 176,400
301 LBt A= 176,400 216,000 A 39,600
= 176,400
01 Al E & A 462 176,400 216,000 A 39,600
[ SHMIQITI Gl AF21 Il oH Xt A& X &
1,800,000& * 98H 176,400
= 176,400
BAAZESH2UL| HSHT AL 7,692 4,220 3,472
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& 1,154
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201 B9 4,252 1,820 2,432
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< 638
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Al 504
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0 24 Zogs 2o
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Al 15,811
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< 629
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Al 121,650
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J| 141,400
< 43,800
Al 121,650
oAzt ¥ O4EE e g2 18,850 18,850
201 ¢et24] 8,890 8,890
01 At 2t 2l 8,890 8,890
0O g3t 3,330
O g+=9 M 70,000& * 52 350
O &8ZM X HH 1602 * 3,000% 480
O Ss8HdX s 82 H MH
2,500& = 1,000% 2,500
028+ 3,600
O 8=dX s ZA2  200,000& * 183l 3,600
=] 1,960
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SorYANE. B YSIZ ARIAYRS
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202 o4dl 4,640 4,640 0
=) 1,392
Al 3,248
01 = LH o4 1l 4,640 4,640 0
O oA A2t WIS
80,000& = 3% = 8¢ 1,920
< 576
Al 1,344
O oydA XEHE 20,0008 » 48 » 34 2,720
< 816
Al 1,904
OLE Xtk &l = 8 & 5t 280,000 0 280,000
J| 140,000
< 42,000
Al 98,000
402 212t X201 & 280,000 0 280,000
J| 140,000
< 42,000
Al 98,000
01 22t t= AP E XL 280,000 0 280,000
[ A0tor2t A28 &3tAtE K&
280,000,000& * 1004 280,000
J| 140,000
< 42,000
Al 98,000
HAXNA NYEszdz2)2 2H A 300,000 0 300,000
J| 300,000
ANNA XNES2d=20|12 22X 300,000 0 300,000
J| 300,000
402 212t X201 & 300,000 0 300,000
J| 300,000
01 A TtEAEEX 300,000 0 300,000
O #HAX NEssoz27/2 2N
300,000,000 = 170 300,000
J| 300,000
HY2HAH (AL E22A) 410,800 395,170 15,630
A24l 360,810 346,680 14,130
A2YH(XNSEA D) 360,810 346,680 14,130
101 @144 dl 360,810 346,680 14,130
01 2= 360,810 346,680 14,130
O =24 360,810
O BAA(XNGEHD, EHXA, BAME L
) 9,500% * 69Y * 45A12H » 128 353,970
O 3822 og=z1&d
9,500& * 6 = 10AI2t » 12& 6,840
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Jl=2&dl 49,990 48,490 1,500
Jl=23dHl 49,990 48,490 1,500
201 fet2E | 14,970 14,340 630
01 At 22l bl 14,970 14,340 630
O et+SH| 9,720
O #3423 7Y 180,000& = 12E 2,160
O dIMNRES 7Y 360,000 * 128 4,320
O 34 S, MM S 74
270,000 * 128 3,240
0 =gl 5,250
O 5222 & 243 M =4
7,000 * 30 * 256¢ 5,250
202 Ol 13,500 13,500 0
01 S LHOHI 13,500 13,500 0
0 fFASS0H 13,500,000& * 14 13,500
203 2R =&Y 15,520 14,650 870
01 J1Z22gg 2= 3,300 3,300 0
0O 244 3,300,000& * 1& 3,300
02 H3Jtatg R=AH| 5,140 4,270 870
O ASJADIE 5,140
O 100 NHX 40,000& = 100 4,000
O 101~400 Mt Xl 30,0002  38% 1,140
04 FAE2EE =N 7,080 7,080 0
O X922 350,000 * 128 4,200
0O 2dXAa, 28
5,000& = 48 » 12& 2,880
204 Z 24| 6,000 6,000 0
01 MM SR+ HH| 6,000 6,000 0
0O =2A4% 400,000& * 12 4,800
O XNge2dnd 100,000& * 12& 1,200




